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3.2 | The Product and Quotient Rules

The Product Rule If f and g are both differentiable, then
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The Quotient Rule If f and g are differentiable, then
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Table of Differentiation Formulas

d d n\y — n—1

E(C) =0 E(x ) = nx
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3-30 Differentiate.
3. y=(4x* + 3)2x + 5)
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31-34 Find f'(x) and " (x).

31. f(x) = x’e"
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43. If f(x) = x*/(1 + x), find f"(1). (_g_)»____ t'y — 9'F
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37-38 Find equations of the tangent line and normal line to the

given curve at the specified point. cq Tondent \ing 5 94 4 = (=21
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45. Suppose that f(5) = 1, f'(5) = 6, g(5) = —3, and
g'(5) = 2. Find the following values.
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